No.1 investor in Nigerian Stock Market Trials emerges with gain of 283% in 6 months.

Jan 16 (Lagos) – Nigeria's 1st ever stock market trials or a simulation was introduced to everyone by financial website <u>www.easykobo.com</u> in June last year. Since then thousands of current and potential investors signed up for the free service which is designed to help people understand how stocks respond to company financials and other factors such as announcements, news and basic marketplace sentiment. The first season of the stock trials ended in December 2012 with no. investor winning IPAD while runner-ups won cash prizes. Season 2 is set to begin shortly on the easykobo.com financial website.

The no.1 investor used alias 'NINJA' to compete in the stock trials and made some amazing trades. He invested in a lot of small cap companies that regular investors usually tend to ignore and focus only on the big financial companies. His full portfolio is added below to everyone can see what is possible in the Nigerian stock market investing at the moment.

The no.2 player used an aggressive 'buy and sell' strategy over the six month period and achieved a Return on Investment of 93% - he goes by the name of '1himself' on easykobo.com website.

The no.3 player deployed a defensive 'buy & hold" strategy and essentially did his research and picked some solid stocks to finish with a ROI of 60% in the six month period.

The prize giving ceremony was held in Lagos last week and players came from out of town into Lagos to meet with the easykobo.com team and discuss their strategies and collect their prizes.

The next season of Nigerian stock market trials starts shortly so if you are interested in learning about stock investing - it's your chance to sign up for free and join this fun learning experience. You do not need to deposit any money to take part in stock trials.

THIS IS THE BUY & SELL PORTFOLIO of the No.1 Investor 'NINJA".

Stock	Туре	Date	Volume	Price	Total
		14-11-12			
DIAMONDBNK	BUY	17:46	40,000,000	3.89	155,600,000.00
		06-11-12			
WAPIC	BUY	15:46	280,000,000	0.54	151,200,000.00
		29-10-12			
UNITYBNK	BUY	18:09	225,707,000	0.65	146,709,550.00
		17-10-12			
DNMEYER	BUY	16:55	14,016,712	2.67	37,424,621.04
		11-10-12			
DIAMONDBNK	BUY	16:12	8,560,000	4.91	42,029,600.00
		27-09-12			
TRANSCORP	BUY	15:53	35,135,135	1.1	38,648,648.50
		26-09-12			
DNMEYER	BUY	16:03	45,000,000	0.97	43,650,000.00
		25-09-12			
NEM	BUY	15:12	74,997,000	0.52	38,998,440.00
		17-09-12			
FIDSON	BUY	19:55	28,501,210	1.1	31,351,331.00
		14-09-12			
ROADS	BUY	16:33	150,000	9.74	1,461,000.00
		12-09-12			
INTBREW	BUY	16:07	2,365,175	12.35	29,209,911.25
		11-09-12			
BAGCO	BUY	15:59	17,000,000	1.98	33,660,000.00
		06-09-12			
INTBREW	BUY	18:01	100,000	10.18	1,018,000.00
		05-09-12			
CADBURY	BUY	15:45	2,904,761	20.65	59,983,314.65
		04-09-12			
DNMEYER	BUY	16:13	4,942,836	0.85	4,201,410.60
		31-08-12			
ROADS	BUY	16:37	60,000	7.64	458,400.00
		10-08-12			
IKEJAHOTEL	BUY	18:42	54,800,000	1.14	62,472,000.00
		13-07-12			
IKEJAHOTEL	BUY	18:59	290,000	1.07	310,300.00
		13-07-12			
IKEJAHOTEL	BUY	18:59	1,000,000	1.07	1,070,000.00
		13-07-12			48,150,000.00
IKEJAHOTEL	BUY	18:59	45,000,000	1.07	l

FOLLOWING ARE HIS BUY ORDERS

FOLLOWING ARE HIS SELL ORDERS

				Pr	
Stock	Туре	Date	Volume	ice	Total
WAPIC	SELL	08-11-12 16:03	280,000,000	0.56	156,800,000.00
ROADS	SELL	01-11-12 19:02	210,000	10.07	2,114,700.00
UNITYBNK	SELL	31-10-12 16:17	225,707,000	0.64	144,452,480.00
DNMEYER	SELL	18-10-12 16:16	59,016,712	2.67	157,574,621.04
DIAMONDBNK	SELL	15-10-12 16:16	8,560,000	4.32	36,979,200.00
TRANSCORP	SELL	04-10-12 16:34	35,135,135	1.21	42,513,513.35
NEM	SELL	26-09-12 16:03	74,997,000	0.5	37,498,500.00
FIDSON	SELL	25-09-12 15:12	28,501,210	1.48	42,181,790.80
INTBREW	SELL	19-09-12 16:30	2,465,175	16.69	41,143,770.75
BAGCO	SELL	14-09-12 16:33	17,000,000	1.89	32,130,000.00
DNMEYER	SELL	10-09-12 17:03	4,942,836	0.74	3,657,698.64
CADBURY	SELL	10-09-12 17:03	2,904,761	20.9	60,709,504.90
IKEJAHOTEL	SELL	31-08-12 16:37	54,800,000	1.19	65,212,000.00
IKEJAHOTEL	SELL	30-07-12 16:05	46,290,000	1.35	62,491,500.00

PICTURE OF PRIZE COLLECTION CEREMONY held on Saturday, January 12 2013 in Lagos.

- 1) Winner collecting IPAD
- 2) Runner up with cash prize



